Total number of printed pages-20.
| 3(Sem-2/CBCS) cscne 1/2/3,RC
2023

CO_MPUTER SCIENCE
COMPUTER APPLICATION -
INFORMATION TECHNOLOGY
(Honours Generic/Regular Core)
For Honours Generic
~ Answer the Questions from any one Optxon. :
OPTION-A
. ( Programming in C++)
Paper': CSC-HG-2016
 OPTION-B
( Database Management System )
Paper : CSC-RC-2016 / CSC-HG-2026
. OPTION-C =
( Introduction to Programming in C)
Paper CSC-HG-2036 / TCA-HG / RC- 2016/TIT RC-2016

Full Marks : 60
Time : Thre‘e_ hours

The figures in the mdrgin indicate
Jull marks for the questions.

Answer either in English or in Assamese.’
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" Answer the following questiens T

OPTION-A' T
(Programming in C++ )
~ Paper : CSC—HG—2016 o
1x7=T
saaemm$§Wa@eaﬁhn°

State True or False :
(a) CH++ supports multiple 1nher1tence

» 'W@fﬁvammvﬁnn o qa |
o C++ m multiple mhentence AL FH

“is a user defined type tl‘tl)a:‘
' eontam data. members and membe

functions.
B user deﬁned type R data

‘members 9% member functions ‘@S
g A

| True or False : o
L Isrta t21++ a . reference vanable is a

pointer to a memory location.

7 (¥ Sey ol ¢

(b)

C++ ', reference variable (& memory

location (71 @Bl pointer T JEig|

P (sgm-z/csesy CSCHO 123, RC/G 2

(d) State True or False :

(e)

(9)

In C++, ++ operator can only be used '
in integer and floating pointer number

N o STy v g

C++ 8, ++ operator CBI ST mteger 12
ﬂoatmg point W\"’J]'N C‘Wi@ (I =1 Nl :

What is L-value and R-value of an
expressmn ? '

<5} express1on 3 L-value Wﬁi R-value ’
G e

What is the use of constructor in C++?

C++ ® constructor 3 w e

State True or False

In function overloadmg same- functlon
name can be used in multiple
functlons if parameter are dlfferent

o] ¢ Tprey vt 8
Function overloadxng 1} tﬂ@f’b‘t funct:on

name (¥ (2301 € function © FiRY mﬁ
I parameter @R @ @ |
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‘2. Answer the fo_llgwing questions :

2x4=8

WWWW

(a) What is the" dlfference between 4 class

).

and an obJect in C++?
«Bi class SIIF €l object 3 ST ﬁ@ &

What- is the use of new and delete
.operators ?

‘new’ . Hi® ‘delete operator 3 WA ﬁ”

(b) Explain the concept of static and

©

dynamic memory allocation in C++,

Static W% dynamic memory allocatlon
T 4IRICHT 3ot 71|

‘What is' the

difference be'tween, '
function

pfototype, ~and function .
definition in C++? Explain with
suitable example.

C++ © function prototype WI% function

(c) What is vanable ? Define the scope of

definition-4 erg 9{1@@1 e @‘m":acm'o:

iable. - | !
a Varl . . 1 ) :
ble & scope 9 ‘ C .
Variable wﬁs{@’ Variable (d) What is friend function ? Write a C++
7{"‘@1 A ‘

, ' program to demonstrate the use of
(d) What is inline function ? friend functlon in-a class.

. . ?
Inline functlon.m 5] gl Fnend “function Wiy & e Friend

function3 =ER ERE @Bl C++ 1

3. Answer any- three questions  from the.

following : : o 5%3=15 . . program e[|

wel [ 1\97357‘?;1‘513 W fot 3 - | (e) - What s polymorphié'm in C++ ?
' . o ‘ | ~Explain - different pes f
(a) . Write the difference between call by yp 0

' polymorphism in ‘C++

Polymorphlsm = & @2 C 3 ﬁm
polymorphlsm RLES 3]1'«’[]1 B

value and call by reference.

call -by value W& call by reference 9

e AL Bl
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Inheritence T 3w (e e

4. Answer any three questions frOSHS tgg | - Inheritence 3R SRz R 75 |
AN _ , _ 110%3= _ . ;
following : _ (e) What are structure and union ? Write
ooid. fRicen fofant e Tes T ¢ ' | a C++ program to show the use of
(a) What isl the difference befcween ti array of structure. What is the
constant pointer and IJIOI_HtETWith difference between break and continue
constant in C++? Explain N statement ? i
suitable example. : ' : ‘ _
C++ @Bl constant pointer SI% pointer | Structure 9% union i & e Array
‘ e R R ACUIES AMEY of structure MR C++ © uln program
to constant-€ IS i ; :
e : s 5121 | Break @i continue statement-g
P ’ RS R

(b) What is filestream in C++?_a>;;i)t1:1r;
different types of filestream. Wi

el (f) Create a class called rectangle’, which
C i aPIOgraln kORI & gon 2 fRfen =9 has three data members “length’,

lestream ¢ X ' , ' r ‘ » -
C++ © ﬁ§§ 1Bt file.q data ‘br?adth an.d area’ of the- recfangle.
filestream 329 S B mitiam Write a public member function getData
72 read FI9 AR C++ © prog () to take the initial values of length’
ferl | -

and ‘breadth’. Another public member
function getAreq () will calculate the
area of the rectangle and display () will
display all the information. Note that

(c) Write a C++ program to display .the
factorial of a number using recursion.

Recursion JRZF FX GBI 719 factorial

SRR C++ © @Bl program ﬁﬁm area is calculated as length « breadth.
; . t &
(d) What is inheritence? Explain abo'ltlh
different types of inheritence Wi
suitable example. 3 (Sem-2/CBCS) CSC HG 1/2/3, Re/G 7 Contd.
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OPTION -B
i) | ,
i,
tangle’ A5 @6l class e f’ﬁ’—‘ ‘ ( Database Management System))
‘recta _ b .
qength?, Dreadth’ S ‘arca ij < - Paper : CSC-RC-2016/ CSC-HG-2026
Jata member 2G| getData (‘rla o -
ata 72l ‘le ,
public member funCU01;%F it Zpita : 1. - Fill in the blanks : 1x7=7
lue - .
‘Hreadth™ va mber , = :
m gothrea () A 4Dt public P ol o
e | ge ﬁzﬁ SOOIE | rectangle e P (a) RDBMS stands for 4
nction '
f% Crgelel T TIE display ( 4 @ RDBMS-9q ity w3 |
L2 n \
; per functio
blic * mem . S
pu informamoﬂ dlsplay PG | (b) COUNT is a funct;on in SQL.
o area RE i SQL-9 COUNT &5t __ function.
W g t | . !
1ength » breadth ! {c) defines the property of an
entity. _
entity 9oF (@R¥ define FE|
: (d) DML stands for _
—— DML-4 _ afoRfag @
(e) . operator is used for select

operations in relational algebra.

Reldtioﬁa] algebra¥ _ operator
(Bl select =f@a= g w 9 =¥
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Relational algebra &2 3319 Ricwrzn 7o

-idenﬁﬂes individual tuples

). The . . FANES T 3w |
uniquely. ' Baread (b) Briefly explain the characteristics of
: PRI
- @ 92T tuple Q¥ 9P DBMS. ‘ :
IR _ DBMS-T RRIEPHZ 530 151 o
basic data retrieval statement 1n j . :
(g) The basi ' (c) Briefly explain the three DDL
SQL 1s _- 2 ‘ . , ith i
Q : Y . o | commands with examples in SQL..l ‘
bl ANERI = > CAlzTe (310e SQL-4 fofi5t DDL command
S T 15 e ST A T | |
: . ks : .2x4= R
2. Define the following terms : (d) Briefly explain the DBMS architecture.
oo AR ket fordl ¢ DBMS-T architecture 53t it < |
(@) Candidate key and Super L2 . (e) How to convert ER diagram into
Y le attribute and Composite | relational table ? Give the rules. :
Simple ' " :
i attribute ; ER-diagram-3 s & relational
) Data independence | ‘_ table (71 oileq 41 &2 Macot vl
; 1 . ferential : .
(d) Entity integrity and Reler 4. "Answer any three of the following :
integrity. I 3 10x3=30
, HETA 5x3=15 FRiceteal fofst =i Teg B ¢
3. Answer any three questions : . _
% : g - (a) Explain the advantages and
fareIcal fofab) 2@ Ted %‘QH - ' ' disadvantages of DBMS. S+5=10
: i 2 lain : :
(@) What is rc_-‘:latlona.l algebra * ExpOrlal DBMS-1 54! i T e —— L
any two operations of relati _ |

algebra.
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v} . Display the récord of persons
- relational schema and . = pre 5 : X ?
Consider the rela form the | whose name start with ‘S’,
write SQL statements to per : | ‘

=10 - :
following tasks : 2+2+2+2_+2 | i g
o9 relation schema (G (&4l Ol Bt | , ﬁq‘_@lm@l (R IS

SR A SQL e fid ¢

(b).

(¢)  Write short notes on the following :

: AME, ; - 5+5=10
ER (WORKER_ID, N \ e o
WORK (SALARY: JOINING_DATE, ey ez ! el o 2
DEPARTMENT) _ (i)  Primary ‘key
. ‘ d joining
: Display worker ID an R oy e
Y datg of Admin Department. : @ i ot
Admin Department< worker ID | (d) Consider the following  relational
9% joining date o] 4 | ; schema : _ 2+2+4242+2=10
. ; Display records in ascending : e relational schema (5] (&[4 2
A s alary EMPLOYEE (Eno, Ename, Salary,
vz e @S (0 AR T4 DOB, Dnum)
, _ . hat | ~ DEPARTMENT .
(iii) Display records having salary 1n i . ENT (Dnum, Dname, Mgrno)
the range 5000 to 9000. ! ;V;Ite- SQL  statements for the
- . bl ollowing : s
Afoge g A | : :
5000-% 9:‘ 9000 Fesie waem aiE SQL Sf B ¢
(FFE el 741 | |

(i)  Display names and date of birth

; ons ,
(iv) Display the record of person of managers of all departments.

. 7
whose name ends with ‘@’.

. . 1 - A department-3 (AR i
2 e G @l BT ' OIS T IR e a5 |
(T A e | -

3 {Sem-2/CBCS) CSC HG 1/2/3, RC/G 13
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(e)

(i) Display the names  Of all
employees with salary < 9000.
9000 ©F T waE CAR T
iR et it
(iii) Display the narries of employees
working 1D each department.
arer®  department < o T W
R AR ot 1
Increase salary of every
employe€ by 10% -
mﬁ@?ﬁm.lo%zﬁma

(iv)

(v) Display details of all employec®

~who born after 01.01.

. : TEN i
p %

e ¢
de : 1 4[4
pendencies< f[(fey
PITR T <1
. I

; :
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OPTION-C |
(Introduction to Programming in C)

Paper : CSC-HG-2036 / TCA-HG / RC-2016 / TIT-RC-2016

1. Answer the following questions 28

directed : 1x7=7

were il esiERE o Tes ol ¢

(@) Which of the following is a valid
identifier ?

I (0B (A AR
i) Static

() For

(iii) Integer

(iv)* Void

(Choose the correct option)

(@% R A Sed)
(b) length() is g library function.
(State true or false)

Length( ) library function.
(e ¢ s )

3 (Sem-2/CBCS) csc HG 23, Re/G 16

@

(d)

(e)

(9)

3 (Sem-2/CBes) cSC HG 1/2/3, Re/G 17

Assignment operators have higher

- Precedence than arithmetic operators.

 (State true or false)

"Assignment operator ¥ precedence

arithmetic operator ©(F &IE]
(5% @ oo [a3))

statement is used to terminate‘
a loop. (Fill in the blank)

9Bl loop 9 FRAE _ statement
SIEEG i e (T 312 779 #1)

Static variables are initialized only
once. (State true or false)

Static variable @IF® @I AEs I Tl
| (5% (o S5 f&730)

Two pointers cannot be multiplied..
(State true or false)

75! pointer 34 FRR GRIR |
(7 7 g &)

_ function is used to move or
change the position of the file pointer

~ to a specified offset. (Fill in the blank)

File pointer-3 g« WiMe SEata .
function IR T T (AT 17 979 F91)
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i ' L e ' : ' : o ' (d) Differentiate between function call by - °

t" ' ) . [ i 3

i 2. Define the following terms : 2x4=8 : ~ value and call by reference - ‘with .
" L o - . | suitable example. | —

| B mg I | ' R ‘ Function call by value W% call by -

o reference WWW‘!@ ocs ferar
{e) - Write a function to return the 'HCF of
- two positive integers.

T (a) 'Reserved word

(b) Null statement

' ’ :(C) SCOpe of Varlable ' : . B ‘ @I W ﬁcﬁ\m HCF @ﬁw @]‘ zﬁ\w |
"(d), Array. S | ' . |
3. Answer’ any three of the following = 4. Answer any three of the followmg
questions : 5x3=15 ' questions: = © . '10%x3=30
'ﬁmﬁﬁw:’mwm | 73@7Wff%ﬁb‘fmwm o
(@) Explain different pnmltiVe data types | (a) Briefly exp lain. the followmg hbrary
 available in C. k functions :
- C language-a AR data type QAR ‘<I‘f"" EE ' we® fidl - library function QRF 53 aq‘:n
o Fan | faan
M) leferentiate between : | " (l) pow( ‘.)
NI Bt ¢ . | | F (i) sqrt( )
_' T . ’ ) . ' 0o b
) (1) LVahje and Rv alue _ | (l.ll) ?IS( ) .
i) Break and Continue I ' , ;";) _'fC Oie(( ))
) "~ (v) fsee
() What is storage class ? List the d h does it
featu (b) What is recursion and how do
ros of different Storage classes’ . o work ? Write a recursive function tO
:;;ug;class & ﬁ%ﬂ storage class? . compute the factorial of a number. N
%i‘ﬁl . o E | -+ Contd.

3 (Sem-~2/cBCs) CsC HG 1/2/3, RC/G 19

3 (Sem-2/CBCS| CSCHG 1/2/3, Re/G 18




Recursidn & 9T e I FE? 9@
AR factorial @%’Jﬁ?ﬁ tﬂﬁ recursive e
TIGT forat . S

(¢} Write a program to find roots of a'
quadratic equation.

aﬁﬁwﬁw«mﬁ%mﬁmﬁ cenam
ety -

(d) Write a program to merge two sorted ’ .
S arrays

N Sy

" B sorted array kﬂ?f@‘@ RAE tﬂt‘l ceeltar
-

(e erte a program to multiply tWO T
' matrices. - (

70! matrix s ?"ﬁa?a Bl celielry f%ranl i

S ¥
() Write short notes on: . I
P O forat g

(i) Relatlonal and loglcal operators
(ii) Structure | '
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